Cold Task

|. Find the answers:

4x12= 5x9= 7x8 = 8xIl =

2. Fill in the gaps:
4x _ =12 8x__=64 R2=4x__ 6=24+

3. Find the answers:

4x2x8= 5x6x2= 7x2x6= 4x1lx2=

4. \Nrite all of the factors for the number 36:

5. Leila has 6 bags with 5 apples in each. How many apples does she have altogether?

6. True or false? 74 x 7 = 498.

Show your working out.

7. A school has 4 house teams. There are 243 children in each house team. How many
children are there altogether?



8. Calculate 84 divided by 4:

9. Calculate 609 divided by 3:

10. An ice cream van has 3 flavours of ice cream and 2 choices of toppings.

Ice-cream flavour Toppings
Vanilla Flake
Chocolate Sauce
Strawberry

How many different combinations of ice cream and toppings can be made?




